5.2, 3 Graphing Rational Functions Practice

{dentefy Vertical Asymptotes, Horizontal Asympilotes, Domalin, and Range cf each.
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Write a function of the form f(x) = + k with a vertical asymptote at x = 25 -
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. Identify Vertical Asymplotes, Horizontal Asymptotes, Slant Asymptotes, Domain, Range, Holes X-

intercepts, and Y-intercepts of each.
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identify Vertical Asymptotes, Horizontal Asymptotes, Slant Asymptotes, Domain, Range, Holes, X-Intercepts,

and Y-intercepts of each, And Then Graph the Function.
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